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NEAL | BRIE | Fon - | KR4 s JNEIRE| 2[EH 3[E H FLE /b
13 vantd = & 6m34 5m94 6m20 6m34
1 27 1161f&H KRR J3) |INAC +5. 2 +1.9 +5. 2 +5. 2 *F2
YIhG T4 hmd = & 5m30 5m19 5m53 5m53
2 24] 105| BAF  BOKRAR (3) | EdkH +3.6 +3.2 +4.1 +4. 1
THHT D a2y = & 5m49 5m22 5m42 5m49
3 25| 117|911 BE3) FEyf +5. 2 +5. 4 +4. 8 +5. 2
OB 79 = & 4m94 5m07 5m39 5m39
4 20| 2092|9 E BE3-(2) A +2.6 +4. 1 +4.1 +4. 1
AR F Ay = & 5m27 5m21 4m93 5m27
5 21| 1503|$K  MEL (3) AHLE +2.7 +3.9 +6. 5 +2.7
R = & 3m66 4m77 5m26 5m26
6 26| 2473 [EE(2) JEA T +3. 8 +1.5 +4. 4 +4. 4 *F2
VAV ARVEY = = 5m19 5m24 5m07 5m24
7 14| 2742|3H  E(©Q) MR +2.7 +3. 6 +2.7 +3.6
73) ~Wh = & 5ml7 4m99 5m09 5ml7
8 18] 2364 KB & (2) fit-gn +5. 2 +4.8 +4.7 +5. 2
SN = & 5ml5 5m02 X 5ml5
9 15| 127145 KIE ) SCIE R +3.5 +2.8 +3.5
A= Iy = & 5m10 5m10 4m90 5m10
10 23] 5635 kA FEHJ2)  |4AEIr +2.3 +4, 2 +4.3 +2.3
AH T )apt = & 5m07 4m72 4mb3 5m07
11 13| 863|fHi%E  HEAE(3) ﬁ*%a)llcp +5. 3 +5. 1 +2.5 +5.3
F0F e X 5m04 X 5m04
12 12  110)iHm fERE (3) j:i;bszP +2.9 +2.9
B A S 4m84 4m99 4m98 4m99
13 53] 2084|HHF KK (2) &EEP +2.5 +5.9 +4.0 +5.9
YELT T = X 4m99 4m80 4m99
14 22| 2463 FAF Ik (2) JE A +4. 6 +4. 6 +4.6 *F8
MA v = & X 4m91 4m97 4m97
15 19 1764]i  BiE (2) i +2.5 +4.3 +4.3
YeE} vale = &\ 4m95 4m96 4m94 4m96
16 11 597 ILAR % B) AJEH +5. 1 +4. 0 +3.3 +4.0
57t 74 = X 4m83 4m91 4m91
17 33| 8O1|AMHE kB (2) L +4, 1 +3.3 +3.3
AL = & 4m91 4m64 4m79 4m91
18 31| 803K HEAQ) B +3.5 +2.8 +4, 6 +3.5 *F8
(0% 2% = X 4m89 X 4m89
19 9| 2725[FHE WA (3) (AR Z T +5.3 +5. 3
wrb7 Vi = & 4m86 4m66 4mb4 4m86
20 7] 2321 (PR AR (2) [GHEVE I +4.7 +3.7 +5.3 +4.7
=V 7Y = & 4m84 X X 4m84
21 16] 2562|768 oK (J2) Sun TFC +7.5 +7.5
A = = 4m70 4mb0 4m47 4m70
22 5| 2316{MEE B2 (2) FEE ) +3.8 +3.7 +5.8 +3.8
wH b = & X 4m70 4m40 4m70
23 6 13Mf EE(J1) -EBeast +4.9 +2.8 +4.9 *F8
ESET = & 4m60 4m39 4mb3 4m60
24 49| 1745 KK HHEA(2) JE ] +3.7 +4. 0 +4.0 +3.7
A0 79 = X X 4m59 4m59
25 46| 2550|/M11 HEF-(2) TR +4.9 +4.9
SERLS = & 4mb56 X X 4mb56
26 4] 24830 KT (J1)  [NAC +2.1 +2.1
NEZL = & 4m46 4mb53 4m33 4m53
27 52| 2573| =@ UK (2) KR +4.3 +7.7 +4.5 +7.7
{0E) 297 S 4m37 4m32 4mb2 4mb52
28 1| 272854 fKE(2) /J\{jDQEP +5. 1 +2.8 +4.8 +4.8
U A 7% & X 4m49 4m51 4m51
29 17| 2090] 8L EHE (2) i):szHEP +4.5 +3.0 +3.0
) Toy 4m16 4m48 X 4m48
30 48 2391|fF A (2) ﬁ%tp +4. 1 +4.8 +4.8
=y4 ayz = 4m30 X 4m43 4m43
31 34| 5848|PEIF &K EL(2) %HTEP +5. 1 +5. 4 +5. 4
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NEAL | BRIE | Fon - | KR4 s JNEIRE| 2[EH 3[E H FLE /b
)Y N = & 3m05 4m34 4m31 4m34
32 50| 1547|&JI FI(3) JIMEH +1.9 +2.7 +3.0 +2.7 *F1
LT = X 4m28 X 4m28
33 44 2361[3HF BRI (2) |H A5 +4, 2 +4. 2
°Th agts = @& X X 4m10 4m10
34 51| 7038|RiH #HAk(2) —HEKHEH +3.7 +3.7
) 7H = & 3m77 3m83 4m09 4m09
35 45| 1782|#RH  JEME(2) E +5.3 +5.3 +5. 6 +5. 6
IV ) atd = & — 3m79 4m08 4m08
36 37 1498|dJI wER (3) AHLE +2.5 +2.5 +2.5
) M7 = &\ 3m99 3m83 4m02 4m02
37 41] 2011|478 R (2) — R +5, 2 +4.9 +4.8 +4.8
BrFh vah = & 3m92 3m90 3m99 3m99
38 35| 2546[Frfh & (2) TR +4. 4 +5.4 +3.0 +3.0
YeE} Tth = &\ 3m83 3m89 3m86 3m89
39 29]  S11[uA WA (2) B +3.3 +7.2 +4.2 +7.2
ARF VAT 0 = & 3m75 3m89 3m83 3m89
40 36] 2355|8nA  #m=HE(2) |H g +5. 0 +3. 8 +1.9 +3.8 *F3
'RARLL = & 3m66 — 3m84 3m84
41 38] 6072 B AERKJLD  |AEFFRC +5.3 +2.4 +2. 4
1 45 = & 3m63 3m72 3m82 3m82
42 40| 2307 fE—(2) ES A +3.7 +3.8 +4.0 +4. 0
BN = & 2m83 3m82 X 3m82
43 42| 2218| A T (2) s +5. 2 +3.7 +3.7 *F8
Ty ap(Fey = X X X
8] 366|FZRM M3 |grEAdEs M
7up ) ady = &
2| 2735|Bmm B MR DNS
YN WHAY 28y = =
3| 2043l b xgEL () |ERT DNS
AN Y = &
10| 2154|#EE  HEMN(2) HAEAL DNS
Fh) Ay = &
28 iy A Q) JE ] DNS
TEF AP = &
30| 2834|m:dn EF(©Q)  |RET DNS
= A = &
32| 2836|mE)I B2 |RET DNS
SR VN = =
39 2010lum mEE R DNS
ZIVAEYR = &
43| eo8L|t@AT  AEE (2) AL DNS
Y A0k = &
47| 853 kAL FeA: (3) EA DNS
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